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ECHNICAI GROUP

VOLATILE ORGANICS INITIAL CALIBRATION DATA

284 Sheffield Street, Mountainside, New Jersey 07092, Phone : 908 789 8900,
Fax : 908 789 8922

Lab Name: CHEMTECH Contract: CAMP02
Lab Code: CHEM Case No.: Q1914 SAS No.: Q1914 SDG No. : Q1914
Instrument ID: MSVOA_Y Calibration Date(s): 04/22/2025 04/22/2025
Heated Purge: (Y/N) Y Calibration Time(s): 13:39 16:15
GC Column: RXI-624 ID: 0.25 (mm)
LAB FILE ID: RRF005 = VY021953.D RRF010 = VY021954.D RRF020 VY021955.D
RRF050 = VY021956.D RRF100 = VY021957.D RRF150 = VY021958.D
COMPOUND RRF005 | RRF010 RRF020 RRF050 RRF100 | RRF150 RRF % RSD
Benzene 1.423 | 1.439 | 1.351 | 1.337 | 1.415 | 1.358 | 1.387 | 3.1
Toluene 0.838. | 0.915 | o0.875 | o0.894 | o0.952 | 0.913 | o.898 | 4.4
Ethyl Benzene 1.693 | 1.840 | 1.718 | 1.835 | 1.990 | 1.898 | 1.829 | 6.1
m/p-Xylenes 0.664 | 0.720 | o0.699 | 0.73¢ | 0.797 | 0.754 | 0.728 | 6.3
o-Xylene 0.599 | 0.639 | 0.635 | 0.689 | 0.747 | 0.716 | 0.671 | 8.3
Isopropylbenzene 3.061 | 3.316 | 3.102 | 3.325 | 3.639 | 3.599 | 3.341 | 7.2
n-propylbenzene 3.708 | 3.996 | 3.778 | 3.977 | 4.258 | 4.152 | 3.978 | 5.3
1,3,5-Trimethylbenzene 2.467 | 2.757 | 2.614 | 2.800 | 2.978 | 2.898 | 2.752 | 6.8
tert-Butylbenzene 2.246 | 2.382 | 2.263 | 2.494 | 2.725 | 2.701 | 2.469 | 8.5
1,2,4-Trimethylbenzene 2.415 | 2.717 | 2.631 | 2.784 | 3.027 | 2.945 | 2.753 |
sec-Butylbenzene 3.254 | 3.724 | 3.409 | 3.602 | 3.898 | 3.786 | 3.612 | 6.7
p-Isopropyltoluene 2.717 | 3.016 | 2.869 | 3.094 | 3.386 | 3.321 | 3.067 | 8.4
n-Butylbenzene 2.477 | 2.790 | 2.545 | 2.742 | 2.976 | 2.919 | 2.742 | 7.2
1,2-Dichloroethane-d4 0.525. | 0.477 | o0.459 | o0.466 | o0.418 | 0.427 | 0.462 | 8.3
Dibromofluoromethane 0.335 | 0.341 | 0.330 | 0.330 | 0.319 | 0.327 | 0.330 | 2.3
Toluene-d8 1.220 | 1.260 | 1.211 | 1.276 | 1.244 | 1.261 | 1.245 |
4-Bromofluorobenzene 0.408 | 0.429 | 0.401 | 0.426 | 0.423 | 0.428 | 0.419 | 2.8

* Compounds with required minimum RRF and maximum $RSD values.

All other compounds must meet a minimum RRF of 0.010.
RRF of 1,4-Dioxane = Value should be divide by 1000.




